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Let's Get Started

@ We should be recording.

© Remember, it is more comfortable for me if you turn on your
video so that | feel like | am talking to real people.

© Our preliminary exam will be available from Thursday at 11am
(after office hours) and must be submitted by Saturday at
10pm EST. You will have 150 minutes to work on the exam
with an extra 30 minutes for scanning and submitting via
gradescope. The exam will cover through and including §2.2
in the text (which | hope to finish Today).

@ But first, are there any questions from last time?
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Linear Maps

Let V and W be vector spaces over the same field F. A function

T :V — W is called a linear transformation or a linear map if for all
x,y € V and a € F we have

Q T(x+y)=T(x)+ T(y), and
@ T(ax)=aT(x).

Proposition
Suppose that T : V. — W is linear. Then T(0y) = O .

Proposition

Suppose T : V. — W is linear. If vi,...,v, € V and ax € F, then

T(Zn: akvk) = Zn: a T (vi).
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The Null Space and Range

Suppose that T : V — W is a linear transformation. Then the null
space or kernel of T istheset N(T)={ve V:T(v)=0w}.
The range of T istheset R(T)={T(v):ve V}.

If T:V — W is linear, then N(T) is a subspace of V and R(T) is
a subspace of W'.

<
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Rank and Nullity

Suppose that T : V — W is a linear transformation. If N(T) and
R(T) are finite dimensional, then we call nullity(7) = dim(N(T))
the nullity of T and rank(T) = dim(R(T)) the rank of T.

One of the things that makes linear transformations special is that
they “preserve dimension” as described in the next result. In our
text, it is called the Dimension Theorem. Other texts call it the
Rank-Nullity Theorem.

Theorem (Dimension Theorem)

Suppose that T : V. — W is linear and V s finite dimensional.
Then

dim(V) = nullity(T) + rank(T).
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Proof

Proof.

Let n = dim(V). Suppose that nullity(T) = dim(N(T)) = k and
that {vi,..., vk } is a basis for N(T). Note that 0 < k < n. Then

we can extend { vi,..., vk } to a basis
B={Viy .., Vi, Vks1,...,Vn} for V. Since n=k + (n— k), it
will suffice to prove that a = { T(vk+1),..., T(vn) } is a basis for

R(T). Since 8 generates V, R(T) = Span(T(3)) =

Span({ T().-- -+ T(vi) }) = Span({ T(vics1)s - - T(va) }).
Hence o generates R(T). Hence we just need to see that « is
linearly independent.
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Proof

Proof continued.

Suppose that 3 7,1 b T(v;) = Ow. We need to prove that this
forces by = 0 for k +1 < j < n. Since T is linear, we have

T(X k1 bjvi) =0v and 37, . bjv; € N(T). Hence there are
scalars aj such that

n k
> b= .
j=1

j=k+1
Thus if bj = —aj for 1 < j < k, then

n
> by =0y.
j=1

Since [ is a basis, and hence linearly independent, this forces
bj=0forall1<;<n. Butthen bj=0for k+1<,<n []
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Review from Appendix B

Recall that a function f : V — W is called one-to-one if

f(v1) = f(v2) implies vi = v». We call a function f : V — W onto
if given w € W thereis a v € V such that T(v) = w. Thusif T
is linear, then T is onto if and only if R(T) = W.

Proposition

Suppose that T : V — W is a linear transformation. Then T is
one-to-one if and only if N(T) = {0y }.
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Proof

Proof.

Suppose T is one-to-one and x € N(T). Then

T(x) = Oy = T(Oy). Thus x = 0y and N(T) = {0y }.
Conversely, suppose that N(7) = {Oy}. Suppose that

T(x1) = T(x2). Then since T is linear, T(x; — x2) = Ow. Thus
x1 —x2 € N(T). Hence x1 — x =0y and x; = xp. Thatis, T is
one-to-one. my
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Time for a break and some questions.
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One-To-One and Onto

Suppose that V and W are finite-dimensional vector spaces over F with
dim(V) = dim(W). Suppose also that T : V — W s linear. Then the
following are equivalent.

© T is one-to-one.
@ rank(T) =dim(V).
@ T is onto.

Recall that the Dimension Theorem implies

dim(V) = nullity(T) + rank(T).

(1)=(2): If T is one-to-one, then N(T) = {0y} and nullity(T) = 0.
Thus rank(T) = dim(V).

(2)=(3): If rank(T) = dim(V), then rank(T) = dim(R(T)) = dim(W).
Hence R(T) = W and T is onto.

(3)=(1): If T is onto, then R(T) = W. Hence

rank(T) = dim(W) = dim(V/). Hence nullity(T) =0 and N(T) = {0y }.
Hence T is one-to-one. O
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The Importance of Being Finite Dimensional

Example

If V = P(R), then we can view polynomials as functions. Since the
derivative of a polynomial is a polynomial, T(p) = p is a linear
map T : P(R) — P(R). It is clearly onto: given p € P(F), let

ab) = [ el

Then T(q) = p. But T is not one-to-one! T(p1) = T(p2) if and
only if p1 and py differ by a constant (polynomial).

Dana P. Williams Math 24: Winter 2021 Lecture 8



Example

Example

Define T : Po(R) — P2(R) by T(p) = p+ p’. You can check that
T is a linear transformation. Since {1,x,x2} is a basis for P»(R),
R(T) = Span({ T(1), T(x), T(x?) } = Span({1,x + 1,x> + 2x }).
Since it is easy to see that {1,x + 1,x2 + 2x } is linearly
independent, and since dim(P2(R)) = 3, it follows that

R(T) = P2(R). Hence T is onto and therefore one-to-one as well.

<
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Generating Linear Transformations

Let V and W be vector spaces over a field F. Suppose that
{vi,...,vn} is a basis for V. Given vectors wa,...,w, in W (not
necessarily distinct), there is a unique linear transformation

T :V — W such that T(vx) = wy for 1 < k < n.

If x € V, then there are unique scalars by such that
X =Y p_q bkvk. Therefore we can define a function T : V — W
by setting T(x) = >_;_; bxwk. Of course, T(vx) = wk.

| claim that T is linear. Suppose x,y € V and a € F. Say

x=> 4 _q1bkvkand y =3} _; ckvk. Then

ax+y =Y p_q(abk + ck)vk and by definition T(ax + y) =
Zzzl(abk + c)wg = aZZ:l by vy + 22:1 vk = aT(x)+ T(y).
This proves the claim.
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Proof Continued.

We still need to see that this uniquely determines T. Suppose that
S:V — Wiis linear and S(vx) = wy for 1 < k < n. Then if

X € 2221 brvi € V,

S(X) = S(ZZ:l bkvk) = 22:1 ka(Vk) = 22:1 kak = T(X)
Thatis, S =T and T is uniquely determined. O

Suppose that VV and W are vector spaces over F and that both
T:V—>WandS:V — W are linear. If {v1,...,v,} is a basis
for V, then S = T if and only if S(vi) = T(vk) for all1 < k < n.
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Break Time Again

Let's take a short break. Any questions?
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Getting Ordered

An ordered basis for a finite dimensional vector space V of

dimension n is a basis { vi, vo, ..., v, } considered as an (ordered)
n-tuple.

Both { e, e, e3} and { e3, e, €1 } are the standard basis for F3.
But they are different as ordered bases. Naturally, we call
{e1,e,...,e,} the standard ordered basis for F” and
{1,x,...,x"} the standard ordered basis for P,(F).
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Coordinate Vectors

Let 5={v1,...,v,} be an ordered basis for a vector space V.
Then for each x € V, there is a unique vector
(a1,...,an) € F"—that is, an ordered n-tuple—(as,...,a,) € F"
such that .
X = Z dk V.-
k=1

We call (a1, ..., an) the coordinate vector of x relative to 3. We
use the notation [x]|s = (a1,...,an) or

ai

an

[xls =
an
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Examples

Example

Let B = {1,x,x?} be the standard ordered basis for P(F). Then
[2x2 —3x + 7] = (7,-3,2). Or, as in the text,

7
[2x2 —3x+T7)g=| -3

2

Let 0 = { e1, &2, €3 } be the standard ordered basis for F3. Then
[(1,2,3)]s = (1,2,3). This is because (1,2,3) = e; +2e> + 3e3. In
general, if o is the standard ordered basis for F”, then [x], = x for
all x € F".
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The Matrix of a Linear Transformation

Suppose that V and W are finite-dimensional vector spaces with
ordered bases = {v1,...,v,} and v = {wi,..., wn },
respectively. (Note that dim(V) = n and dim(W) = m.) Then the
matrix of T with respect to 3 and 7 is the m x n-matrix [T];;

whose j-column is the coordinate vector [T(v;)],. When V = W

and 8 =+, then we usually write [T]z in place of [T]g

This is easier to make sense of if we agree—as do the authors of
our text—to think [T(v;)] as a column vector. Then

[T15 = [Tl [T(w)ly - [T(va)ly]-
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Example

Example

Define T : P2(R) — P3(R) by T(p) = [, p(t) dt. Let o2 and o3
be the standard ordered bases for P(R) and P3(R). Find the
matrix [T]g3.

Solution

Recall that oo = {1,x,x?}. Then T(1) = x. Therefore
[T(1)]os = (0,1,0,0). We have T(x) = 1x2 while T(x?) = %x3.
Hence

[T 03 _

O O = O
oONRk O O
w— O O O
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Standard Matrix

Let T : R® — R? be the linear transformation
T(x,y,z) =(x+y —z,y +3z). Find the matrix of T with
respect to the standard ordered bases o3 and o5.

Solution
Here T(e1) = (1,0), T(e2) =(1,1), and T(e3) = (—1,3). Then
(7172 = [[T(elo, [T(e2)lo, [T(e3)l,]- That is

M=o 1 3)-
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@ That is enough for today.
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